

$$\mu_n(x) = \left(1 + \frac{x}{n}\right)^n, \quad \sigma_n(x) = \left(1 - \frac{x}{n}\right)^{-n}$$

$$\mu_{n+1}(x) = \left(1 + \frac{x}{n+1}\right)^{n+1}$$

$$\left(1 + \frac{x}{n}\right)^{n+1} \left(1 + a_n(x)\right)^{n+1} = \left[\left(1 + \frac{x}{n}\right)^{n+1} \left(1 + a_n(x)\right)^{n+1} \right]$$

$$= \left(\left(1 + \frac{x}{n}\right) \left(1 + a_n(x)\right) \right)^{n+1}$$

$$= \left(1 + a_n(x) + \frac{x}{n} + \frac{x a_n(x)}{n} \right)^{n+1}$$

On sait que $\left(1 + \frac{x}{n+1}\right)^{n+1} = \left(1 + a_n(x) + \frac{x}{n} + \frac{x a_n(x)}{n}\right)^{n+1}$

$$\Leftrightarrow \frac{x}{n+1} = a_n(x) + \frac{x}{n} + x \frac{a_n(x)}{n}$$

$$\Leftrightarrow \frac{x}{n+1} = a_n(x) \left(1 + \frac{x}{n}\right) + \frac{x}{n}$$

$$\Leftrightarrow a_n(x) \left(1 + \frac{x}{n}\right) = \frac{x}{n+1} - \frac{x}{n} = \frac{-x}{n(n+1)}$$

$$\Leftrightarrow a_n(x) = \frac{-x}{n(n+1)} \times \frac{1}{1 + \frac{x}{n}} = \frac{-nx}{n(n+1)(n+x)} = \frac{-x}{(n+1)(n+x)}$$

> -1

Pour la suite, veuillez approximer votre calcul

